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PR RP TN MNR TN Mwan 291 ORBR — Why is the 2"nva
21, he merely transferred the object from one >'"'719 to another
",

Overview

The X 13 asks that if the 2"7v2 is placing the object into a basket — '7 %y '7 -
that the °1v is holding; it is tantamount to transferring an item from one >"77
to another, so why should the 2"7¥2 be 2°11. M9 expounds on this point,
that not only will he not be 21 for 2"77% >"77% XY, which is obvious, but
he will not be 21 at all, even for ¥y¥aR2 7" "7 "0 VWY, as evidenced
by the expression of the 2»n XX — X3, without any qualifications,
meaning that he is not 217 at all. N80 will explain why is he not 211 for
L.

2977 KD NAR RWVITIY LW 2R R — You cannot be 21 the 2"7va

even for the 77710 of v, even if the 2"7v2) °1v were on the same side of
the 2"131, where there is the 211 of VW, nevertheless in our 7Iwn where we are now
saying that the 2"7¥2 placed the object in the basket held by the *1v, he would not be 21

y7om s wbapaw oxnT mbwy 9eb — according to the Zsmbwis Tiaon,
who requires, that in order to be 2nn for v, it is necessary that the

receiver accept the object (from) [in] his hand, and in our case the object was
placed in a basket and not in the hand of the "1¥, therefore he will not be 2> for Spwn.

Summary
v 1s 210 only when the v n places the object in the recipient’s hand

(when the recipient is standing in the other >"717), but not if he places it in the
*"'737 proper.

Thinking it over
1. If he would be 2»n for vwww, would that pose any problem in our
understanding of the X723?

' See X now who says that the X"w2a changes the X071} from 172 to 172 (not the way it appears in our
X"wnn).

2 See nMmwya 7"7 R,2 MDOIN

? See NR NOWY 2717 Y ,w"R7 Mmoo for alternate 0°vws. The vwo used here reflects the X072 of the
X"wann, according to the Nk now, and is in accord with "33 inWwya 7"7 'own which states: 122pn 1770w KX
D[R] "' DY IR WG IR PR 17N,



